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Integrals

ABCONIOTHBI

0.606

19990.496

20.785

10345.952

| h|WIN| =

-8.450

MestReNova Integral Regions

from(f2) to(f2) from(f1) to(f1)
1] 10.072 9.981 8.888 9.059
2| 0.686 0.4005 0.4005 0.686
3| 0.686 0.4005 -3.251 -2.926
41 -2.926 -3.251 -3.251 -2.926
51 -2.926 -3.251 0.4005 0.686
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Integrals

ABCONIOTHBI

-8.439

18924.035

455.213

9474.071

| h|WIN| =

393.389

tm=0.02 c
C6D6
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Integrals

ABCONIOTHBI

-12.302

18175.622

842.182

8736.936

| h|WIN| =

770.500

L

tm=0.04 c
C6D6

f1 (ma)



Integrals

ABCONIOTHBI

-14.151

17664.862

1195.429

8165.376

| h|WIN| =

1102.506

L\

tm=0.06 c
C6D6

f1 (ma)



Integrals

ABCONIOTHBI

-17.650

17181.284

1519.962

7593.848

| h|WIN| =

1393.646

f1 (ma)



Integrals

ABCONIOTHBI

-20.975

16744.998

1800.962

7083.294

| h|WIN| =

1686.187

tm=0.1c
C6D6

f1 (ma)



Integrals

ABCONIOTHBI

-24.028

16363.972

2078.389

6625.074

| h|WIN| =

1908.692

tm=0.12 c
C6D6
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Integrals

ABCONIOTHBI

-28.410

15992.522

2310.740

6202.733

| h|WIN| =

2147.383

tm=0.14 c
C6D6

-

f1 (ma)



Integrals

ABCONIOTHBI

-32.835

15544.921

2517.177

5790.974

| h|WIN| =

2322.135

C6
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=0.16 ¢
D6
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Integrals

ABCONIOTHBI

-33.154

15201.266

2703.116

5402.588

| h|WIN| =

2472.377

C6

=0.18 c
D6

f1 (ma)



Integrals

ABCONIOTHBI

-39.561

14881.317

2852.312

5061.879

| h|WIN| =

2622.192
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Integrals

ABCONIOTHBI

-44.477

14609.319

3009.337

4785.283

| h|WIN| =

2756.062
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Integrals

ABCONIOTHBI

-54.110

14323.476

3129.115

4493.723

| h|WIN| =

2877.171
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tm=0.24 c
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Integrals

ABCONIOTHBI

-53.265

14022.712

3242.332

4231.485

| h|WIN| =

2970.638
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Integrals

ABCONIOTHBI

-58.372

13771.316

3317.905

3995.315

| h|WIN| =

3068.973

<‘_

f1 (ma)



Integrals

ABCONIOTHBI

-61.254

13454.450

3405.523

3758.027

| h|WIN| =

3133.220

CepD6

(

f1 (mp)



Integrals

ABCONIOTHBI

-65.146

13262.144

3461.178

3558.952

| h|WIN| =

3206.428
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Integrals

ABCONIOTHBI

-67.441

13068.129

3528.438

3397.161

| h|WIN| =

3271.249

C6

WA

=0.34 c
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Integrals

ABCONIOTHBI

-67.573

12871.838

3600.873

3239.935

| h|WIN| =

3302.549
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Integrals

ABCONIOTHBI

-73.453

12663.060

3627.694

3077.159

| h|WIN| =

3343.417

tm=0.38 ¢
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Integrals

ABCONIOTHBI

-77.502

12516.845

3692.503

2958.654

| h|WIN| =

3410.131
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